MBS PR RS
ojuf, R(2006) 2] #k= Fotof 2}

[
H -

>
>

Si=

2007

52 0(w), WIAIE R(x) 2L 5.

B

=x(x*+1)Q(x)

SR(x)=x+1
wh2bA] R(2006) = 2007

K1 41 = (63 + x)0(x) + R(x)




f(xX)Ex-1, x—22 Yz YHAZF 2423, 54 o, f(x) & x*-3x+2
2 U e g Foh?

@2x+1 @ 2x+3 ® 2x-1
@ 2x ® 2x-3

B

X2 =3x+ 22 WE &2 O(x), YHAE ax + b2k 514 f(x) =
(x2 =3x+2)Q(x) +ax+ b

a4 f(1) =3, f(2) =5°|2&

a+b=3,2a+b=5

La=2,b=1

webd, Fohe LAl ox 4 1




a4 f() 2 (x— ;) 2 Hsmo] B2 o(x), U AE Rojet

o, T F f(x) S 3x - 22 U Sle
® Q(x), R @ 30(x), R
@ %Q(X), R ® o), %R

o] o] G} Lpe A2

® Q(x), 3R

s}

o)
=

= (3x-2)30() + R
ol Fahe Fuh hu A
B 2000 HHIA: R




(3% +1)

DN =R =

B

0 = (x-3)0(x) + R
x =32 HYstH 330 =R

Q(x) S Aol FH2 o) Foeuz
x =15 HYstd 1 = -20(1) + 3%

) B 330 -1

.01 = 5

30_1 3041 1
.'.R—Q(l):330— 9 = 5 25(330+1)




1000102 10012 W o £3 Ui A2 242} o(x), R & 1, Th
F Ueix) RS F17] 913 7P A e 4.2

@ x1° =x0(x) +R
@ x=(x-1)Q0(x)+R

1000*° = 1001 - Q(x) + R4l 1000 = x 2} 5}H
X0 = (x+1)Q(x) +R
x=-12 HUsHE R=1& 7& 5 3ot




ot

=

A B bax +bx+c B x+ 22 HrE 30 HIL, -1 2 d
o] Xt} o] w, abc O] FH-E F5HH?

jiin)

cCh "
H -

>
|> HMeb: o9

oH =

B ‘

¥ +ax® +bx+c=(x+2)0yx)+3
= (x+1)(x - 1)Qa(x)

f(=2)=3 f1)=0 f(-1)=0

—2¢, -8+4a-2b+c=3

1Y, -14+a-b+c=0

=19, 14+a+b+c=0

Al A& d-dshiA Fshd

a=3,b=-1,c=-3

. abc =9

X
X
X




xofl Tt TFaFA] 43 4 2x2 —ax + b7} 2% + x— 22 o] WolA o,
a® + b* 9] k& Aot

Ch "
H -

>
|> b= B

oHd =

D ‘
fx)=x*+2x> —ax+b= (x> +x-2)0(x)
= (x+2)(x-1)Q(x)
Aol ol x = -2, x = 12 st Fo] 0 o] Hrt,
L f(=2)=-8+48+2a+b=0
1+2-a+b=0AH5H, a=1,b=-2




